Iay-J

A TMIRBZE S (EPD)
BRES © JR-AI-23514E

SUMPORRIESANII OIS A

—RADEAT RT T T IVIEEHENE

BRETFABXABET-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jo

E/oQL—H—J1o 48—

brother

at your side

IS5 —T%#%X =%t / BROTHER INDUSTRIES, LTD.

Monochrome Laser Printer

H L_ L2375DW for Europe

BER{ SRBS JR-AI-23514E
JEFAPCRES PA-590000-AI-08
HEB1EHED
PCR% BEHRA L HEEE [558hR]
BEENRESFE VNS ] 2024448198
W RA%EA CIFRRsRA WEI&I8E 2024548118
[EAARIEGE. AR, A, (EF - HESEIR, R - UYL REES T S RAFLFEEAT
BREIBS JV-AI-23514E
HROBK, TEMLE - f#ix REITEHAR 2029448108
AR : HL-L2375DW PCRLE1—D=EHE

T8 (EPAR)
-£/%0

-ENRIEEE : 34ppm (A4)

-ERAFEYAX 1 A4 BEBIRLE*
-JU> N/ BENEE FDR] NEPREES
AKEE : 7.1kg. BEA : 1.1kg

-EiR/HIRLAN

ARSI m(ZEUropeft@mIF T,

FREHSE 20234 9A 1H
ZER Ml 22

(R EE NS X T T IV EHEENE)

INE ERAE

ISO14025(CRE D TeARBEERUT — S DML U fAREE

OISR m 5hEB

* AT LR R TR RAADIREDBE(E. AT LFREEITD
EEEEDRRIZ L.

BEWSHE%
I3 -T#AaH

inml—ecoleaf—jimukyoku@brother.co.jp

https://global.brother/ja

Tix&ES ¢ JR-AI-23514E


mailto:inml-ecoleaf-jimukyoku@brother.co.jp
https://global.brother/ja

I7y—7 SUMPORIESANIT OIS A
_ —BHIEAY 2T T T IES S
A{TMIRIEE S (EPD) FRETFABRAMET-14-8
BHRES © JR-AI-23514E KANDA SQUARE GATE
https.//ecoleaf-label jo

OS5A THA V) EFhER

0% 20% 40% 60% 80% 100%
1% 1%
SHRZH) IPCC 2013 GWP 100a 490 |kg-CO2eq
v 0.30 | kg-SO2eq
0%0% | |
BRHE 0.020 | kg-Sbeq po
m OFREMFERE mQ%E n QA
EQOFER-HHEE nOEE-VHM1IIL
P9iR =| Ba{yy ait | OREMHEE Q%= Qi |omAm - #5EE| oRR - UYL
SUEZEE) IPCC 2013 GWP 100a | kg-CO,eq | 4.9E+02 || 6.2E+01 | 3.3E+00 | 4.7E+00 | 4.0E+02 | 1.4E+01
[ivde2le kg-S0O,eq | 3.0E-01 4.8E-02 2.5E-04 4.2E-03 2.5E-01 6.4E-03
BREE kg-Sbeq 2.0E-02 6.0E-03 9.1E-06 2.0E-05 1.4E-02 3.4E-06
) )1 & MBI OB (CET S1Eh%E
15 T3 A - e (ERETES) T3
JEBAEDREER 1.9E+01 kg 35 50 1.7E4+00 kg
IEBEMREIRILF— 7.0E4+03 MJ SuUS 4.6E-02 kg
BERREER 5.0E+01 kg FILE=A 7.5E-02 kg
B&ufE TR — 1.3E+02 MJ TDfhERE 0.0E+00 kg
WIKDHEE 6.1E-01 m3 TSAFwvo 4.3E+00 kg
N 1.9E-01 kg
HSX 3.26-02 kg
I N 8.5E-01 kg
HRRELIRER 3.0E-01 kg
Z DAt 5.9E-01 kg

CRERBRICET DEMIEH

EREPEOEESZE (SFUA)
JUSS (EPAR) . 1BE(EHEAR : 5. EEFRIMES : 172,8008. ENRLAIESE (J{&—>) :ISO/IEC 19798
EIRIFRIRIBERICSER., BRAUEIRIILF-RS-TOJS5 A Ver.3.0. A& (EEuropeftmls

©-1.€DMDRIERERH
ARBOMBEIERE EFBHRD bF—RURBSEARSREE(FISO14001 FEER TIHICTITHNTVET,

QERUEZRT—IDERS
IDEA v2.1.3 RUSUMPORIESNIILTOJ S AEREEA v1.10 ZEA L.

@5

0 —SFHEHEDHAF. PCRELUVERE - ESHEEZSRULTIIZE0,
O LLECDULT I BE - EERREICRESINERGEZEBEUEESICUMRDENER A
(B2885%URL : https://ecoleaf-label.jp/regulation/)
SixES . JR-AI-23514E



	ｴｺﾘｰﾌ①
	ｴｺﾘｰﾌ②

